Precalculus — Chapter 1 Homework Packet Name:

26) Sketch the best graph for g(x)ﬂ(x—S)2 —3.Besureto
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Precalculus — Chapter 1 Homework Packet Name:

7) Use the following: IF: f (x) = —3(}( + 2)2 -1

27) What is the value of f (

‘{ = M%{ "H‘*ﬁn
g =-3(2) 2 )

28} Describe the transformaﬁon Compared to f ( )m
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Use the following function for numbers@ f (x) =vx+2+3

29) Sketch the best graph for f (x)

30} What is the x-intercept?
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31) What is the y-intercept?
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32) What is the domain?
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33) What is the range

[7,20)
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Precalcuius — Chapter 1 Highlights -

34) Graph the following “parent” function. f (x)=x’ _ JANE L0 1.

¥x

Now graph the following functions, which are transformations of the parent function above. HINT: In the
first problem, F(x)= f(x)—5 is the same as F(x)=x"—5. In the second problem, G(x) = f(x+2)is the
same as G(x) =(x+2)?, and so on.

a F@=f-5 b. é(x)= Foeh2)
IR AN
: 1 —

¢ P(x)=f(x-3)+1 d. K(x)=—7(x)
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Precalculus — Chapter 1 Highlights

e. O(x)=—f(x)+2 £ HG)=—f(x—3)+2
1 A ¥

]
L 3

Page7 of 12




	Day 5 HW Answers.pdf
	jimbo.pdf

	Day 6 HW Answers.pdf



